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Children should write a sequence that increases by £ and recognise that mixed numbers containing 2 are the (S
same as mixed numbers containing a half. For example £, 14 lé)

) 2%.3.3%.@.5%

This sequence is increasing by 3. The 4th term should be 4}

b) 8%.8.7%..6

This sequence is decreasing by 2. The 4th term should be 6%

) @5%,6%,7%

This sequence is increasing by L. The 4th term should be 4%
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There are many different possibilities. Three possible sequences are shown below: @
.5, 55,65 (This sequence is increasing by &)

E
3, x‘; 165,65, 65, 74 (This sequence is increasing by 3.)
%5, %, 35, 315, 75 (This sequence i decreasing by 75.)

2) There are a number of different possibilities. Three possible sequences are shown below:

4,55, 6, 65,75 (This sequence is increasing by §.)
3,56, 55, 65, 65, 74 (This sequence is increasing by 3.)
4, Sk, 65, 74 (This sequence is increasing by 13.)





